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     Count the rise and run; and find the slope of each line. 
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Finding the Slope 
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    Answers: 

 

M at h Com poser  1. 1. 5
ht t p: / / www. m at hcom poser . com

-5 -4 -3 -2 -1 1 2 3 4 5

x

5

4

3

2

1

-1

-2

-3

-4

-5

y

Slope  = 

6)

1

2

-5 -4 -3 -2 -1 1 2 3 4 5

x

5

4

3

2

1

-1

-2

-3

-4

-5

y

Slope  = 

8)

4

3

-5 -4 -3 -2 -1 1 2 3 4 5

x

5

4

3

2

1

-1

-2

-3

-4

-5

y

Slope  = 

4)

5

4

5

2

-5 -4 -3 -2 -1 1 2 3 4 5

x

5

4

3

2

1

-1

-2

-3

-4

-5

y

Slope  = 

3)

− 1− 
3

2

-5 -4 -3 -2 -1 1 2 3 4 5

x

5

4

3

2

1

-1

-2

-3

-4

-5

y

Slope  = 

2)

-5 -4 -3 -2 -1 1 2 3 4 5

x

5

4

3

2

1

-1

-2

-3

-4

-5

y

Slope  = 

9)

-5 -4 -3 -2 -1 1 2 3 4 5

x

5

4

3

2

1

-1

-2

-3

-4

-5

y

Slope  = 

7)

-5 -4 -3 -2 -1 1 2 3 4 5

x

5

4

3

2

1

-1

-2

-3

-4

-5

y

Slope  = 

1)

2

3

 − 
5

3

− 
3

4

-5 -4 -3 -2 -1 1 2 3 4 5

x

5

4

3

2

1

-1

-2

-3

-4

-5

y

Slope  = 

5)


